




On the Persson-Strang's Identity for the Legendre Polynomials

R. Sivaraman  

Department of Mathematics, Dwaraka Doss Goverdhan Doss Vaishnav College,
Chennai 600 106, Tamil Nadu, India

J. López-Bonilla 

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

E. N. Macin-Moran 

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Suggested Citation

Sivaraman, R., López-Bonilla, J. & Macin-Moran, E.N. (2023). On the Persson-Strang's Identity for the Legendre Polynomials. *European Journal of Theoretical and Applied Sciences*, 1(6), 246-248.
DOI: [10.59324/ejtas.2023.1\(6\).24](https://doi.org/10.59324/ejtas.2023.1(6).24)

Abstract:

We show an alternative proof of an identity given by Persson-Strang for the well known Legendre polynomials.

Keywords: Zudilin's identity, Legendre polynomials, Persson-Strang's identity.

Introduction

The Legendre's polynomials (Legendre, 1785) $P_n(x)$, $-1 \leq x \leq 1$, can be defined via the following recurrence relation (Lanczos, 1972; Chihara, 1978; Oldham, & Spanier, 1987):

$$(n + 1) P_{n+1} = (2n + 1)x P_n - n P_{n-1}, P_0 = 1, P_1 = x, n = 1, 2, \dots, \quad (1)$$

hence:

$$P_2 = \frac{1}{2}(3x^2 - 1), P_3 = \frac{1}{2}(5x^3 - 3x), P_4 = \frac{1}{8}(35x^4 - 30x^2 + 3), \dots \quad (2)$$

These polynomials also are determined univocally through the conditions (Sommerfeld, 1964; Broman, 1989):

$$\int_{-1}^1 P_m(x) P_n(x) dx = 0, m \neq n, P_n(1) = 1, \forall n, \quad (3)$$

therefore:

$$\int_{-1}^1 x^m P_n(x) dx = 0, m < n, \quad (4)$$

and the Laplace's integral formula (Chihara, 1978; Oldham, & Spanier, 1987; Sommerfeld, 1964; López-Bonilla, López-Vázquez, & Torres-Silva, 2015; Doman, 2016; Foupouagnigni, & Koepf, 2020) gives an alternative way to generate the expressions (2):

$$P_n(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} (x + \sqrt{x^2 - 1} \cos \beta)^n d\beta, n = 0, 1, 2 \dots \quad (5)$$

or equivalently:



$$P_n(x) = \frac{1}{2^n} \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n}{k} \binom{2n-2k}{n} x^{n-2k}. \quad (6)$$

Persson-Strang (2003), Amdeberhan et al. (2021), Bulnes, López-Bonilla, & Prajapati (2023) obtained the interesting identity:

$$\int_{-1}^1 \left[\frac{P_{2n+1}(x)}{x} \right]^2 dx = 2, \quad n = 0, 1, 2, \dots \quad (7)$$

then in Sec. 2 we use an identity of Zudilin (2014) to generate an alternative proof of (7).

Persson-Strang's identity

Zudilin (2014) and López-Bonilla, & Prajapati (2023) deduced the following property:

$$[P_m(x)]^2 = \sum_{k=0}^m \binom{m}{k} \binom{m+k}{m} \binom{2k}{k} \left(-\frac{1-x^2}{4}\right)^k, \quad m = 0, 1, 2, \dots \quad (8)$$

therefore:

$$Q(m) \equiv \int_{-1}^1 \left[\frac{P_m(x)}{x} \right]^2 dx = \sum_{k=0}^m \binom{m}{k} \binom{m+k}{m} \binom{2k}{k} \frac{(-1)^k}{4^k} \int_{-1}^1 \frac{(1-x^2)^k}{x^2} dx, \quad (9)$$

however, it easy to obtain the expression:

$$\int_{-1}^1 \frac{(1-x^2)^k}{x^2} dx = -\frac{2(4^k)}{\binom{2k}{k}}, \quad (10)$$

then from (9) and (10):

$$Q(m) = -2 \sum_{k=0}^m (-1)^k \binom{m}{k} \binom{m+k}{m} = -2 {}_2F_1(-m, m+1; 1; 1). \quad (11)$$

On the other hand, we know the relation (Quaintance & Gould, 2016):

$$\sum_{k=0}^m (-1)^k \binom{m}{k} \binom{z+ky}{m} = (-y)^m, \quad y \neq 0, \quad (12)$$

which for $z = m$ and $y = 1$ implies the result:

$$\sum_{k=0}^m (-1)^k \binom{m}{k} \binom{m+k}{m} = (-1)^m = P_m(-1) = {}_2F_1(-m, m+1; 1; 1), \quad (13)$$

hence from (9), (11) and (13):

$$\int_{-1}^1 \left[\frac{P_m(x)}{x} \right]^2 dx = 2(-1)^{m-1}, \quad m = 0, 1, 2, \dots \quad (14)$$

which reproduces the Persson-Strang's identity (7) when m is odd.

Remark.-In Bulnes, López-Bonilla, & Prajapati (2023) it was proved the property:

$$\int_{-1}^1 \frac{1}{x} P_{2n+1}(x) dx = \frac{2(-4)^n (n!)^2}{(2n+1)!}. \quad (15)$$

References

Amdeberhan, T., Duncan, A., Moll, V.H. & Sharma, V. (2021). Filter integrals for orthogonal polynomials. *Hardy-Ramanujan Journal*, 44, 116-135.

Broman, A. (1989). *Introduction to partial differential equations: From Fourier series to boundary-value problems*. New York: Dover.

Bulnes, J.D., López-Bonilla, J. & Prajapati, J. (2023). Certain integrals involving Legendre

polynomials. *Open Access Journal of Science*, 6(1), 1-3.

Chihara, T.S. (1978). *An introduction to orthogonal polynomials*. New York: Gordon & Breach.

Doman, B.G.S. (2016). *The classical orthogonal polynomials*. Singapore: World Scientific.

Foupouagnigni, M. & Koepf, W. (ed.). (2020). *Orthogonal polynomials*. Switzerland: Springer Nature.

Lanczos, C. (1972). Legendre versus Chebyshev polynomials. In *Topics in Numerical Analysis*, J. J. H. Miller (ed.). London: Academic Press.

Legendre, A.M. (1785). Recherches sur l'attraction des spheroids homogènes. *Mémoires de l'Académie Royale des Sciences de l'Institut de France. Paris*, 10, 411-435.

López-Bonilla, J., López-Vázquez, R. & Torres-Silva, H. (2015). On the Legendre polynomials. *Prespacetime Journal*, 6(8), 735-739.

Oldham, K.B. & Spanier, J. (1987). *An atlas of functions*. London: Hemisphere Pub. Co.

Persson, P.E. & Strang, G. (2003). Smoothing by Savitzky-Golay and Legendre filters. In *Mathematical systems theory of biology, communications, computations, and finance*. IMA.

Quaintance, J. & Gould, H.W. (2016). *Combinatorial identities for Stirling numbers*. Singapore: World Scientific.

Sommerfeld, A. (1964). *Partial differential equations in Physics*. New York: Academic Press.

Zudilin, W. (2014). A Generating Function of the Squares of Legendre Polynomials. *Bulletin of the Australian Mathematical Society*, 89(1), 125-131. <https://doi.org/10.48550/arXiv.1210.2493>